1| ] #ifndef MCL H
2 #define MCL H
3
4
= double GeneStable (double mu, double =sigma, double beta, double alpha);
[ doukle Para(unsigned int,unsigned int, double[]):
7 doubkle P(double x, double mu, double gamma, double beta, double alpha);
g double F({double x, double alpha, double beta):;
9 double FI (double x, double delta, double gamma, double beta, double alpha):;
10
11 clas=s alpha
12| [ ¢
13 private:
L int Lserie:
15 double* indata:
16 |
public:

- alpha (int T, double Data[]){lLserie=T; indata=Data;}

= doukxle a() {return Para(Lserie, 0O, indata) 7}

=] double b(){return Para(Lserie, 1, indata) r}

=] doukle =() {return Para(Lserie, 2, indata) r}

=] double m({) {return Para(Lserie, 3, indata);}
23
24| [ ~alpha() {}
L] 1:
26
27 $endif




